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MODEL QUESTION 
SET –II                                                                         

vFkZ’kkL= 
Subject- Economics 

Okkf"kZd baVjehfM,V ijh{kk&2021  
 
 

  

 
¼lkekU; funsZ’k½¼lkekU; funsZ’k½¼lkekU; funsZ’k½¼lkekU; funsZ’k½    

General Instructions  

• nksuksa [kaMks ds lHkh iz’u vfuok;Z gSA 
All Questions in both groups are compulsory  

• iz’u ds lHkh Hkkxksa dk mRrj ,d gh LFkku ij gksuk pkfg,A  
All parts of an answer must be written at one place.  

• iz’u la[;k 1 ls 15 vkSj 31 ls 45 cgqfodYih; iz’u ¼1 vadh;½ gSaA 
(Question number 1 to 15 and  31 to 45 multiple choice questions carrying 1 mark   

• iz’u la[;k 16 ls 20 vkSj 46 ls 50 fjDr LFkkuksa dh iwfrZ okys iz’u 1 
vadh; gSaA 
Question number 16 to 20 and 46 to 50 fill in the blanks type questions carrying 1 

mark each.  
• iz’u la[;k 21 ls 25 vkSj 51 ls 55 vfr y?kq&mRrjh; iz’u 2 vadh; 

gSa ftuesa mRrj 40 'kCnksa esa fyf[k,A 
Question No. 21 to 25 and 51 to 55 are very short answer type questions carrying 2 

marks each. Answers to these should not exceed 40 words each.   
• iz’u la[;k 26 ls 28 vkSj 56 ls 57 y?kq&mRrjh;A iz’u gSa ftuesa izR;sd 

ds 3 vad gSaA buesa ls izR;sd dk mRrj 150 'kCnksa esa fyf[k,A 
Question No. 26 to 28 and 56 to 57 are short answer type questions carrying 4 

marks each. Answers to these should not exceed 150 words each. 
• iz’u la[;k 29 ls 30 vkSj 58 ls 59 nh?kZ mRrjh; iz’u gSa ftuesa izR;sd 

ds 5 vad gSaA buesa ls izR;sd dk mRrj 250 'kCnksa esa fyf[k,A 

Question No. 29  to 30 and 58 to 59 are Long answer type questions carrying 5 

marks each. Answers to these should not exceed 250 words each.   
 

 

[k.M&A O;f"V vFkZ’kkL= dk ifjp; (Introductory Microeconomics)  52 Marks 
 

cgqfodYih; iz’u ¼1 vadh;½ Multiple choice Questions (1 Marks)  
 

 

 fuEufyf[kr iz’uksa esa ls lgh fodYi dk p;u djsa                    1×15=15 

Choose correct options in the following questions.  

 

1. miHkksDrk O;ogkj dk v/;;u fd;k tkrk gSA 
Consumer’s behavior is studied in- 

1 

 (A) lw{e vFkZ’kkL=  
In micro economics  

(B) vk; fo’ys"k.k  
Income Theory  

(C) lef"V vFkZ’kkL=  
In micro economics  

(D) mi;qZDr esa ls dkbZ ugha  
None of the above  

 

 

2. fdlh oLrq dh ekuoh; vko’;drk dks larq"V djus dh {kerk gSA  
The capacity of a commodity to satisfy human wants is - 

1 

 (A) miHkksx Consumptions  (B) mi;ksfxrk Utility  
(C) xq.k Quality  (D) ;fp Taste  

 

 

dqy iz’uksa dh la[;k 
Total No. of Question  59 

iw.kkZad % 100  
Full Marks : 100 
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3. ek¡x Qyu dks fuEufyf[kr esa dkSu&lk lehdj.k O;Dr djrk gSA  
Which of the following is a demand functions.  

1 

 (A) Px  (B) Dx px=  

(C) ( )Dx f Px=  (D) buesa ls dksbZ ugha None of these 
 

 

4. vkSlr ykxr oØ dk vkdkj gksrk gSA The shape of average cost curve is  1 

 (A) U v{kj tSlk  ¼U-Shaped½ (B) ledks.kh; vfrijoy; tSlk 
Rectangular hyperbola  

(C) nksuks v ,oa c Both A and B (D) mi;qZDr esa ls dkbZ ugha  
None of the above  

 

 

5. le:i mRikn fo’ks"krk gS Homogenous product is a characteristic of  1 

 (A) dsoy iw.kZ izfr;ksfxrk Only 

perfect competition  

(B) dsoy ,dkf/kdkj Only 

monopoly  
(C) nksuks v ,oa c Both A and B (D) mi;qZDr esa ls dkbZ ugha  

None of the above  
 

 

6. fuEufyf[kr esa ls dkSu mRifr dk lk/ku ugha gSA  
Which of the following is not a factor of production. 

1 

 (A) Hkwfe Land  (B) Je Labour  

(C) iw¡th Capital (D) buesa ls dksbZ ugha None of these 

 
 

 

7. ifjorZu’khy vuqikrksa dk fu;e lacaf/kr gSA  
Law of variable proportion is related to- 

1 

 (A) vYidky ,oa nh?kZdky nksuksa ls  
Both short run & long run  

(B) nh?kZdky ls Long run   

(C) vYidky ls Short run  (D) vfr nh?kZdky ls Very long run 
 

 

 

8. vko';d oLrqvksa dh ek¡x dh yksp gksrh gSA  
Elasticity of demand for necessities is  

1 

 (A) 'kwU; Zero  (B) vlhfer Unlimited  

(C) bdkbZ ls vf/kd Greater than unity  (D) bdkbZ ls de Less than one  
 

 

9. ^vFkZ’kkL= /ku dk foKku gŜ  fdlus dgk\ 

‘Economics is a science of Wealth’ Who said it ?  

1 

 (A) ek'kZy Marshall  (B) ,Me fLeFk Adam Smith  

(C) ikWy lsE;qylu Paul Samuelson (D) ekYFkl Malthus  
 

 

10. iw.kZ izfr;ksfxrk esa In perfect competition  1 

 (A) AR  =  MR (B) AR >  MR 

(C) AR  <  MR (D) AR + AC =  MR  
 

 

11. tc dqy mi;ksfxrk vf/kdre gksrh gS] rc lhekUr mi;ksfxrkA  
When TU becomes maximum, MU is  

1 

 (A) /kukRed gksrh gS Positive  (B) _.kkRed gksrh gS Negative  

(C) 'kwU; gksrh gS Zero  (D) buesa ls dksbZ ugha None of these 
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12. fuEu esa ls dkSu lk dFku lR; gS& Which statement of the following is ture- 1 

 (A)  AC  =  TFC  -  TVC (B) AC =  AFC +  TVC  

(C) AC  =  TFC  +  AVC  (D) AC =  AFC  +  AVC  
 

 

13. mRiknu lEHkkouk oØ dk <ky fxjrk gSA 
The slope of production possibly curve (PPC)  

1 

 (A) ok;sa ls nk;sa From left  to right   (B) nk;sa ls ok;sa From right to left  

(C) uhps ls mij From bottom to top (D) buesa ls dksbZ ugha None of these  
 

 

 

14. vkfFkZd leL;k ewyr% fdl rF; dh leL;k gS\ 

To which factor, economic problem is basically related to - 

1 

 (A) pquko dh Choice  (B) miHkksDrk p;u dh Consumers 

Selection  
(C) QeZ p;u dh Firm selection  (D) buesa ls dksbZ ugha None of these  

 
 

 

15. ek¡x dh yksp gSA Elasticity of demand is a - 1 

 (A) xq.kkRed dFku Qualitative 

statement  

(B) ek=kRed dFku Quantitative 

statement  
(C) v ,oa c nksuksa Both A and B  (D) buesa ls dksbZ ugha None of these  

 
 

 

 fjDr LFkkuksa dh iwfrZ dhft,AfjDr LFkkuksa dh iwfrZ dhft,AfjDr LFkkuksa dh iwfrZ dhft,AfjDr LFkkuksa dh iwfrZ dhft,A    Fill in the blanks                                      1×5=05 
 

 

 

16. mnklhurk oØ ewy foUnq dh vksj ----------------- gksrk gSA  
Indifference curve is ……….. to the origin.  

                                      ¼a½ mÙky Convex  ¼b½ vory Concave  

1 

17. LFkkukiUu oLrqvksa dh ek¡x oØ ck;sa ls nk;sa ----------- <ky ckyk gksrk gSA  
Demand curve for sulestitute goods slope ……….. from left to right . 

              ¼a½ c<rs Upward  ¼b½ fxjrs downward  

1 

18. iw.kZ ykspnkj ek¡x oØ ------------- v{k ds lekukUrj gksrk gSA  
Perfectly elastic demand curve is parallel to …………… axis. 

                                      ¼a½ Y  ¼b½ X  

1 

19. vYidky esa ,d foosd’khy mRiknd Lo;a dks mRiknu dh ---------- voLFkk esa 
j[kuk pkgrk gSA  
In short term a rational producer will try to keep him in ………… stage.  

                                     ¼a½ Ist   ¼b½ IInd   

1 

20. dqy ykHk = ¼--------½  - ¼dqy ykxr½ Total profit =  (……..) – (Total cost)  

                  ¼a½ dqy vkxe Total Revenue  ¼b½ lhekUr vkxe Marginal Revenue  

1 

 
    

vfr vfr vfr vfr Yk?kq mÙkjh; iz’uYk?kq mÙkjh; iz’uYk?kq mÙkjh; iz’uYk?kq mÙkjh; iz’u    Very Short answer type questions                        2×5=10 

fuEu iz’uksa ds mRrj fyf[k,A Answer to these questions.   
 

 

21 dqy mi;ksfxrk D;k gS\ What is total utility?  2 

22 ek¡x ls D;k vfHkizk; gS\ What is meant by Demand?    2 

23 vFkZO;LFkk dh dksbZ nks leL;kvksa dks fy[ksaA  
Write any two Central problem of an economy. 

2 
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24 le&foPNsn foUnq D;k gS\ What is Break-even point.  2 

25 mRiknu lHHkkouk oØ D;k gS\ What is production possibility curve?  2 

 Yk?kq mÙkjh; iz’u Yk?kq mÙkjh; iz’u Yk?kq mÙkjh; iz’u Yk?kq mÙkjh; iz’u Short Answer Type questions                                          4×3=12 

 
 

26 mRiknu Qyu D;k gS\ What is production function? 4 

 
    

fuEu iz’uksa ds mRrj nsaA Answer to these questions.     
 

 

27 ek¡x ds fu;e dh ekU;rk,¡ D;k gS\  

What are the assumptions of the law of demand.  

4 

28 mRiknu Qyu ds eq[; fo’ks"krkvksa dks fy[ksaA  
Discuss the main characteristics of production function.  

4 

     
nh?kZ mÙkjh; iz’unh?kZ mÙkjh; iz’unh?kZ mÙkjh; iz’unh?kZ mÙkjh; iz’u    Long Answer Type Questions                                         5×2=10 

fuEu iz’uksa ds mRrj nsaA Answer to these questions.    
 

 

29 ek¡x dh dher yksp ds ekius dh T;kferh; fof/k dks le>kb,A  
Explain the geometric method of measuring price elasticity.  

5 

 vFkokvFkokvFkokvFkok    (OR)  

 QeZ ds larqyu dh dqy vkxe ,oa dqy ykxr jhfr Li"V dhft,A  
Explain the Total Revenue and Total Cost method of a Firms Equilibrium.  

 

30. iw.kZ izfr;ksfxrk D;k gS\ iw.kZ izfr;ksfxrk dh fo’ks"krk,¡ crkb,A  
What is perfect competition? Explain the characteristics of perfect competition.  

5 

 vFkokvFkokvFkokvFkok    (OR)  

 rkfydk rFkk fp= dh lgk;rk ls lhekUr mi;ksfxrk ,oa dqy mi;ksfxrk ds 
chp laca/k Li"V dhft,A  
Explain the Relationship between marginal utility and Total utility.  
  

 

 
[k.M&2 lef"V vFkZ’kkL= dk ifjp; (Introductory Macroeconomics)  48 Marks 

 

cgqfodYih; iz’u ¼1 vadh;½ Multiple choice Questions (1 Marks)  
 

 

 

fuEufyf[kr iz’uksa esa ls lgh fodYi dk p;u djsa                    1×15=15 

Choose correct options in the following questions.  

 

31. jk"Vªh; vk; dk ekiu fuEufyf[kr esa ls fdl fof/k ls fd;k tkrk gSA  
Which method is adopted in measuring national income. 

1 

 (A) mRiknu fof/k Production method (B) vk; fof/k Income Method  

(C) O;; fof/k Expenditure method (D) ;s lHkh All of the above  
 

 

32. izkFkfed {ks= esa fuEufyf[kr esa dkSu 'kkfey gSA  
Which one is included in primary sector?  

1 

 (A) Hkwfe Land  (B) ou Forest  

(C) [kuu Mining  (D) ;s lHkh All of these  
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33. fuEufyf[kr esa ls dkSu lk eqnzk dk dk;Z ugha gS\ 
Which of the following in not a function of money?  

1 

 (A) fofue; dk ek/;e Medium of 

exchange  

(B) dher fLFkjrk Price Stability  

(C) ewY; lap; Store of value  (D) ys[kk dh bdkbZ Unit of account 
 

 

34. turk dk cSad dkSu lk gS\ Which one is the Bank of the public?  1 

 (A) O;kikfjd cSad Commercial bank  (B) dsUnzh; cSad Central bank  

(C) A ,oa B nksuksa Both A and B  (D) buesa ls dksbZ ugha None of the above  
 

 

 

35. fjtoZ cSad vkWQ bf.M;k dh LFkkiuk gqbZA  
Reserve bank of India was established in. 

1 

 (A) 1947 (B) 1935 
(C) 1937 (D) 1945 

 

 

36. MPC  +  MPS  =  ? 1 

 (A) ∞  (B) 1 
(C) 2 (D) 0 

 

 

37. ljdkj ds dj&jktLo ds vUrxZr fuEufyf[kr esa dkSu 'kkfey gSA 
Which of the following is/are included under the government tax revenue.  
 

1 

 (A) vk; dj Income Tax (B) fuxe dj Corporate Tax  

(C) lhek 'kqYd Excise duty  (D) mi;qZDr lHkh All of the above  
 

 

38. Hkqxrku 'ks"k dk ?kVd gSA The components of Balance of payment is - 1 

 (A) pkyw [kkrk Current Account  (B) iw¡th [kkrk Capital Account  

(C) A ,oa B nksuksa Both A and B  (D) buesa ls dksbZ ugha None of the above  
 

 

 

39. Hkqxrku larqyu esa vlekurk dk dkj.k gSA  
The reason of imbalance in balance of payment is  

1 

 (A) izkd`frd dkj.k Natural Reasons  (B) vkfFkZd dkj.k Economic Reasons 

(C) jktuSfrd dkj.k Political Reasons (D) buesa ls dksbZ ugha None of the above  
 

 

 

40. xq.kd dks fuEufyf[kr esa fdl lw= }kjk O;Dr fd;k tk ldrk gSA  
Multiplier can be expressed as.  

1 

 (A) s
K

i

∆
=

∆
 

(B) y
K

i

∆
=

∆
 

(C) K I S= −  (D) buesa ls dksbZ ugha None of the above  
 

 

 

41. ifjokj QeksaZ dks fuEufyf[kr esa dkSu lh lsok,a iznku djrs gSa\ 
Which services are provided by families to a firm ?  

1 

 (A) Hkwfe Land  (B) Je Labour  

(C) iw¡th vkSj m|e Capital and enterprises  (D) mi;qZDr lHkh All the above  
 

 

42. fuEufyf[kr esa ls dkSu lk LVkWd gS\ Which of the following is a stock ?  1 

 (A) lEifÙk Wealth  (B) cpr Saving   
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(C) fu;kZr Export  (D) ykHk Profit  
 

43. rhu {ks=h; ekWMy esa fuEufyf[kr esa dkSu 'kkfey gS\  
Which one is included in Three sector model ?  

1 

 (A) ifjokj Family  (B) QeZ Firm  

(C) ljdkj Government  (D) mi;qZDr lHkh All of the above  
 

 

44. eSfnzd uhfr ds izeq[k mís’; gSA The major objectives of monetary policy is 1 

 (A) mRiknu ,oa jkstxkj esa o`f)  

Increase in output and employment  

(B) fons'kh fofue; nj dh fLFkjrk 
Stability in foreign exchange rate  

(C) ewY; fLFkjrk Price stability  (D) buesa ls lHkh All of these  
 

 

45. Hkkjr dk foÙkh; o"kZ gSA Financial year in India.  1 

 (A) 1 vizSy ls 31 ekpZ  
1 April to March 31 

(B) 1 tuojh ls 31 fnlEcj 
January 1 to December 31 

(C) 30 vDVwcj ls 1 flrEcj  
October 1 to September 30 

 

(D) buesa ls dksbZ ugha None of the above  

 

 

 fjDr LFkkuksa dh iwfrZ dhft,A fjDr LFkkuksa dh iwfrZ dhft,A fjDr LFkkuksa dh iwfrZ dhft,A fjDr LFkkuksa dh iwfrZ dhft,A Fill in the blanks                                      1×5=05 
 
 

 

46. vk; ,oa jkstxkj --------------- vFkZ’kkL= dh ,d 'kk[kk gS 
Income and employment theory is a branch of ………….. Economics. 

              ¼a½ O;f"V Micro  ¼b½ lef"V Macro  

1 

47. Vadh esa j[kk ikuh ---------------- dk ,d mnkgj.k gSA  
Water in a reservoir is an example of - 

                                      ¼a½ iwfrZ Supply  ¼b½ LVkWd Stock  

1 

48. fofue; dk ek/;e eqnzk dk -------------- dk;Z gSA  
Medium of exchange is a …………….. function of money. 

                                      ¼a½ f}rh; Secondary  ¼b½ izkFkfed Primary 

1 

49. ----------------- cSadks dk cSad gksrk gSA ………… is the bank of banks  

         ¼a½ dsUnzh; cSad Central Bank  ¼b½ O;kikfjd cSad Commercial Bank  

1 

50. MPC ,oa xq.kd esa ----------- laca/k esa MPC and multiplier have …… relationship. 

                                     ¼a½ foijhr inverse   ¼b½ lh/kk direct   

1 

 
    

vfr Yk?kq mÙkjh; ivfr Yk?kq mÙkjh; ivfr Yk?kq mÙkjh; ivfr Yk?kq mÙkjh; iz’u z’u z’u z’u Very Short answer type questions                        2×5=10 

fuEu iz’uksa ds mRrj fyf[k,A Answer to these questions.   
 

 

51. eqnzk ds dksbZ nks dk;Z crkb,A State any two functions of Money. 2 

52. O;kikfjd cSad dh ifjHkk"kk nhft,A Define commercial Bank.  2 

53. cSad nj fdls dgrs gSa\ What is Bank rate ?  2 

54. lhekUr miHkksx izo`fr dks ifjHkkf"kr dhft,A  
Define marginal propensity to consume.  

2 

55. ljdkjh ctV dh ifjHkk"kk nsaA Define Government Budget.  
 

2 

 Yk?kq mÙkjh; iz’u Yk?kq mÙkjh; iz’u Yk?kq mÙkjh; iz’u Yk?kq mÙkjh; iz’u Short answer type questions :                                            4×2=08 
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fuEu iz’uksa ds mRrj nsaA Answer to the questions -  
 

 

56. eqnzk dh fo’ks"krk,¡ crkb,¡A Explain the properties of Money.  4 

57. vfUre oLrq ,oa e/;orhZ oLrq esa D;k varj gS\  
What is the difference between final goods and intermediate goods.  

4 

 
    

nh?kZ mÙkjh; iz’u nh?kZ mÙkjh; iz’u nh?kZ mÙkjh; iz’u nh?kZ mÙkjh; iz’u Long Answer type questions :                                      5×2=10 

fuEu iz’uksa ds mRrj nsaA   
 

 

58. jk"Vªh; vk; dks ifjHkkf"kr dhft,A vkfFkZd fodkl esa jk"Vªh; vk; dk D;k 
;ksxnku gksrk gSA  
Define national income. What is the role of national income in economic development.  

5 

 vFkokvFkokvFkokvFkok    (OR)  

 dsUnzh; cSad dh ifjHkk"kk nsa vkSj blds dk;ksaZ dh O;k[;k djsaA  
Define Central bank and explain its functions.  

 

59. Hkqxrku larqyu ds izfrdwy gksus ds dkj.kksa dks crkb,A  
Explain the reasons of adverse balance of payments.  

5 

 vFkokvFkokvFkokvFkok    (OR)   

 xq.kd rFkk cpr dh lhekUr izo`fr esa laca/k dh O;k[;k dhft,A  
Explain the relationship between marginal Propensity to save & multiplier.  

 

 


